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1. Give the complete or full name in English for each of the following chemical
elements or compounds: ( 30% ) ‘

(DH  @N  (3)S  (@)P (5)Si - (6)Ca
(MBe  Mn  (9Cu  (10)Pb  (11)CO, (12)H,S
(13)CaCO;  (14)Fe(OH);  (15)CH, |

2. Explain the following terms concisely: (30%) '
(1) solubility of a gas  (2) Avogadro’s number (3) gas constant
(4) nuclear fission . (5)Henry’slaw  (6) electrolysis

(7) latent heat (8) solubility product . (9) redox potential

(10) precision of measurement - ‘

3. Chlorine has 2 major isotopes: **Cl and *’Cl. * Their isotopic abundance is
75.53% and 24.47%, respectively. What is the atomic weight of chlorine?
(10%)

4. Calculate the volume of H at 0°C and 1 atm produced by 20g of Zn ( atomic
weight: 65.4g ) reacting with excess sulfuric acid as expressed by the reaction: ( 19% )]

Zngs) + HySO0taqy —> ZnS04gagy + Hagy)

5. If the solubility product constant (Ksp) for calcite (CaC0;) is 3.8 x10° at 25C,

calculate the solubility of calcite in pure water in moles per liter and grams per
liter. Does the solubility increase or decrease if it is in seawater? Why? (20%)
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10% (3) &4 — MK > HiFen AR B4 fT F L BA ?

10% (4) %343R lecc @ Iml 89 RFMEH T

20% ( 6) 3£ 4m 38,88 Gas Chromotography 2 f 32 .
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— >R TiRRAER ) (plate tectonics) BRZ AR RFREBRE - H
KRS HERHRAZ - (205 )

=~ BRI KR o R R A 2 AR E « (10% )

= . R — 4z EERE (geologic time table ) » 3488 2
& B ZAREFX - (15% )

W MR G SRR - B RORR R - (15% )
B~ WA o AT R bR PR R 030 P - (15% )

K BRBE D I do T H A MIRAL S ok B R e B R -
(15% )

£~ 73 Tk & %ﬂ% 1 (Earth System Sciences) ? (10% )
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(1) SHEARSTRESS (%A% ) |
(2) OPENFOLD ( #8488k )

(3) DECOLLEMENT ( A A& )
2. AEANBLIER ? XATAEE - $HEQHEE RavBd - (10 &)
3. ##RULEOFV'S(V F M)A LA - (10 3°)

4. Fr@nR @ B&ZBADLE $HF (1)DOMEQ)MONOCLINE ( £44)
(3)PULUNGINGFOLD (#4888 ) = (15 %) |

5. WHRTHAADLR FHRA ~ $hebolldl s et AW B4z - (20 %) -

(1) LITHOSTRATIGRAPHY
(2) BIOSTRATIGRAPHY
(3) MAGNETOSTRATIGRAPHY

6. sﬁ:ﬁﬁ)wﬁ-ﬁ CQRD Q) LREF HREGERERFFBHGRAL - (15 %)

7. R LEARRIILE LA DATING) @FBABe? (154)
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1. Please write short answers and draw diagrams if you can, to explain the
following terminologies: (50%)

(1).  western boundary currents

(2). primary productivity

(3). carbon cycle '

' (4). compensation depth

(5). subduction zone

(6). oceanic ridge

(7). eutrophication

(8). Redfield ratio

(9).' turbidity current

(10). estuary

2. Whatis a T-S diagram, and what can it tell us. Please give some examples.
(10%)
What is a CTD profile, how is it used in the oceanographic research? (10%)
What causes coastal upwellings and what is their significance.” (10%)

. What is El Nino and what are the effects that it causes? (10%)
Why Japan Islands, Taiwan, and the Philippine Islands are easily subject to
earthquakes? Please draw a diagram to explain your answers. (10%)
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W~ 738 T3k A 8% | (Barth System Sciences) ? (10% )

1. Explain the following terms concisely: (30%)
(1) solubility of a gas  (2) Avogadro’s number (3) gas constant
(4) nuclear fission  (5) Henry’s law (6) electrolysis
(7) latent heat (8) solubility product  (9) redox potential
(10) precision of measurement

2. Chlorine has 2 major isotopes: *Cland *’Cl. Their i'sbtopic abundance is
75.53% and 24.47%, respectively. What is the atomic weight of chlorine?
(10%)

3. Calculate the volume of Hy at 0°C and 1 atm produced by 20g of Zn ( atomic
weight: 65.4g ) reacting with excess sulfuric acid as expressed by the reaction: (0% )

Zl’ks) + HzSO4(aq) — Zl’lSOq(aq) + Hz(g)




